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II-Grammar (40 Marks)

A) From a, b, ¢ and d choose the correct answer that best completes each of
the following sentences: (4 X 5=20)

40

I 1- The teacher was very angry .................. students because they made a lot of noise.
a) for b) with c) by d) on

I2- My grandfather lives in a big house. Itis .................... one in the neighbourhood.
a) large b) larger c) largest d) the largest

13- My sister loves animals. She has got three cats, adog and ................ birds.
a) a few b) a little ¢) much d) any

14- The food you have ordered from the restaurant hasn’t come

....................

a) never b) just c) yet d) already

B) Do as shown between brackets:(4x5=20)

15- The employees not only come early to work, but they also work hard.

Not only do the employees come early to work, but they also work hard. (Complete)

16- While the farmer (work) in the garden, he hurt his back badly. (Correct)

worked / was working

17- My father bought me a (green / beautiful / small) car as a present for my graduation.

(Re-order the adjectives)

beautiful small green
18- I invited 12 persons to attend the family gathering. (Ask a question)
How many persons did you invite? /How many persons did you invite to attend the

family gathering? /Why did you invite 12 persons? / What did you do?
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II1-Language Functions (40 Marks)

Write what you would say in the following situations: (4X 10 = 40) 40

19- Your young sister wants to drink fizzy drinks but you want to order fresh juice.
Preference / Expressing personal opinion / Stating advantages / Making comparison

20- One of your cousins doesn’t know where to travel in the next summer holiday.
Suggestion / Expressing opinion / Making recommendations

21- You want your father’s advice about the suitable car to buy.
Asking for advice

22- One of your friends gave you a valuable present on your birthday.

Thanking / Expressions of gratitude / Expressing likes & dislikes

Any reasonable response is accepted

IV-Set Book (30 Marks)
Jo

Answer ONLY THREE of the following questions:(3x10=30)

23- It is well known that dark chocolate is good for health. Explain.
It can lower blood pressure. / It can improve the ability to metabolise sugar.
24- What will computer games be like in the future?
Computer games will be more realistic, difficult and naturalistic in the future.
25- As a student, how can you help to protect wildlife in your area?
I can look after birds by putting out some food. / Build a bird house in the area. /
Provide running or dripping water for birds and other animals if possible. /
Having an environmental cleanup to turn wastelands near the school or area into a
home for animals.
26- Why do some people consider Kuwait a shopper’s paradise?
Because it has some of the best stores and shopping centres in the Middle East.

Bt T e T Any reasonable answer is accepted
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V- Writing (100 Marks)

100
Write on the following topic:

The importance that our society attaches to sport is incredible. Sports build character and

teach a lot about life.

Plan and write an essay of 12 sentences (140 words) explaining the positive effects of sports

on people and the role of society to encourage people to practise and take part in sports.

NB: (Your writing should include an introduction, two-body paragraphs and a conclusion)

Qutline (20 Marks)
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Write vour topic here (80 Marks)

Outline Exposition of Paragraphing and | Spelling Grammar Handwriting, spacing | Total
o . ideas and number of and punctuation
E coherence sentences
= 20 40 10 10 10 10 100

* 20 marks to be deducted from the total mark for changing the format.
* Off point topics / outlines receive ZERO.

* 5 marks to be deducted from the outline if the ideas are not used in the topic.
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VI- Reading Comprehension (80 Marks)

80

Read the following passage carefully, then answer the questions below:

The world would be a much better place if there were fewer car accidents. Car accidents

happen daily and regularly these days. They leave pains behind for the victims’ families. Many
people think that they will never get involved in car accidents. They don’t wear their seat belts
and they use their cell phones while driving. They do all these things without even giving a
second thought, yet accidents due to these things are preventable. People don’t realise that
doing those minor things cause them severe pains or even deaths.

So what causes the problem? There are many different reasons why car accidents happen.
The fatigue of driving for many hours causes many accidents. Drivers get tired and fall asleep
without even noticing it. Some people are distracted while driving. They are on the phone,
sending text messages, or simply they set their eyes on something else and run into walls or
other cars. Speeding is also one of the reasons for accidents. Even though there are speed limits
for different places, people don’t keep them. For teens, they tend to race on highways with
motorbikes or cars.

There is no simple solution to the problem of car accidents. People need to be aware of
accidents at anytime and anywhere. Individuals cannot solve this problem. We all have to work
on it as one nation to solve it. Everyone should obey and follow the rules. That’s why there are
rules.

People should follow the laws otherwise they should pay fines. People who exceed speed
limits, people who pass the red lights and people who throw rubbish out the window should be
punished. Another basic solution we could do is to put more cameras on the road to take more
pictures of those who speed up over the limit. We can put warning signs of cameras to help the
people stay alarmed. Then the teens would not race anymore. We should teach about car

accidents, and about their results more often in schools.
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From a, b, ¢ and d choose the correct answer: ( 8 x10=80 )

27- What is the best title for this passage?
a- Bad Results of Car Accidents

b

Reasons Behind Car Accidents

¢c- Car Accidents: Causes and Results

d

History of Car Accidents

28- The underlined word " preventable " in paragraph 1 is closest in meaning to:

a- avoidable
b
¢

d

suitable

visible

acceptable
29- What does the underlined word "they" in paragraph 2 refer to?

a- accidents

b- drivers
C

d
30- What can be understood from paragraph 4?

messages

reasons

a- Young drivers should follow traffic rules all the time.
b- More laws should be set to reduce car accidents.
¢- More accidents happen among teenagers compared to adults.
d- Car accidents can't be stopped even with strict laws.
31- According to paragraph 2, what is the main reason for car accidents made by teens?
a- Ignoring traffic lights
b- Forgetting to wear the seat belt
c- Falling asleep while driving

d- Racing en highways
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32- According to paragraph 3, what is the solution to the problem of car accidents?

a

b

People should work together in following the rules.

Policemen should be everywhere in the roads.

C

d

Speeding should not be allowed.

People should put rules.

33- All the following statements are true EXCEPT:
a. Driving for long hours may cause car accidents.
b. Car accidents leave pain for victims' families.
c. Warning signs of cameras help drivers stay alarmed.

d. Speeding up saves peoples' lives.

34- The author’s main purpose in writing this passage is to:
a- give information about the reasons of car accidents.
b- show the importance of wearing seat belts while driving.
c- help people avoid car accidents.

d- show the road damage caused by car accidents.

VII- Summary Making (60 Marks)

60

Read the following passage, then do as required:

Many people catch a cold in the springtime.When a virus attacks your body, your body
works hard to get rid of it. Blood rushes to your nose and brings congestion with it. You feel
terrible because you can't breathe well, but your body is actually "eating" the virus. Your
temperature rises and you get a fever, but the heat of your body is killing the virus. You also
have a runny nose to stop the virus from getting to your cells. The immune system in your body
attacks any foreign invaders such as viruses. You may feel unhappy, but actually your

wonderful body is doing everything that can kill the cold.
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In a paragraph of FOUR sentences ONLY, summarise and paraphrase the previous
passage in an answer to the following question: ( 4X15=60)

How does the human body get rid of viruses?

It makes the blood rush to the nose so the virus can't get in. / It eats the virus. / It
stops the virus from spreading through raising the heat of the body. / It makes the nose
runny to help stop the virus from reaching the cells. / The immune system attacks any
strange thing that gets into your body like viruses.

| Content / relevance of Paraphrasing Spelling and Paragraph format Total
ke ideas grammar
S = T —
= | 30 20 5 5 60

e Copying the whole paragraph receives ZERO.
* Exceeding the required number of sentences (Minus 5 marks for one sentence- Minus 10 for two
sentences and above)

VIII- Translation (20 Marks)

Translate the following into good English:(2X10=20) 20

f eV Jgws bl Jlga & sk Sauaall QladW1 &S 32 o)) alas (Ja cdaal
Ahmad: Do you know that the new gaming company has developed an easy-to-use gaming

device?
Ali  : Yes, I have recently bought it and used it during training at the club.
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